Sr Questions Answers Choice

A dik

1 WA SosS ale el 5l ale 1S gy g S Clllae IV Sl oSy ol

S

2 1 B 50 e S a0 5 23 ok S cadias

3 R e e (e S (ol e J sl

4 N 2 oS S (el e J sl

5 =8 b S S A (S 5

6 e S ldlae

7 o G S N A (S

8 LS ol (0 ggumn T8 o) ) il g0 S 3 glans o] puad g

1696
1776
1803
1825

9 & S e e 8 IS ol i iy ol 5l e 8 S ol ) s

e a2
Jéjle
BB

10 #5208 S (el Al (T ) e i (S ol ) s

PSR
BCS)
Jéjla
Ay

11 L@-I'Y‘)C'@)\ﬁrah\sdjé)sﬁl.}ﬁw

B
dél
g a2l

S

12 e AL S Cldlae

(ol B
Y
Ly

[EaS Bl

13 Lil IS (SwlS) oikonomos = il 1S ol Sl S s o 8IS 330

BTSSR

14 =l K5 oS ke 205 e
nClal el

o sl e 00

oW » DOWP DOW» DOWr UOWr UOU> DOW» UOWr DOWm> DOWE U0WP» DOUP DOWE U0
[y

A s I ow

B. Jdsioskh kbl Jocle ajl
15 ot s 1Y)l ) GBS i A S e (S s

T



D. oYy



